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Time : 2 hours 
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Note : Attempt both part-A and part-B. 

PART-A 

	

1. 	Distinguish between any two of the following : 5+5=10 

(a) Sole trader and partnership. 

(b) Capital market and money market. 

(c) Direct channels and indirect channels of 

distribution. 

(d) Current account and savings bank account. 

	

2. 	Write short notes on any two of the following : 5+5=10 

(a) Containerisation 

(b) Public utility undertaking 

(c) Fire insurance 

(d) Chain stores 

ECO-1 	 1 	 P.T.O. 



PART-B 

Attempt any three of the following questions : 

3. What is a joint stock company ? Explain as to 

how it overcomes the limitations of partnership 

form of organisation. 	 2+8=10 

4. "Stock exchange is a barometer of the economic 10 
and business conditions in a country." Discuss. 

5. Why are the channels of distribution different for 10 
different products ? 

6. "Banks provide various types of advances to its 10 
customers according to their needs and repayment 

capacity." Explain. 

7. In the present day context, do you think it is 10 
necessary for the government to directly 

participate in business ? State your views. 

8. Explain the procedure, one has to follow when 10 
goods are imported. 
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1. 	1:1 	roro d 4 	 : 	5+5=10 

(a) :fTcflt -aqf 

(b) ttql- 	iii iT 	I -417R 

(c) fq--d-Tur 	mcw TT 3WT"IffEzTr4 

(d) nliqINTUT 

	

2. 	rftirc 	r 	 TA.1-Ff f-e-urfurqf 	: 5+5=10 

(a) --4T4chtur 

(b) 	441411-  A---qT 

(c) 31-r-r9 

(d) s'NFT-44 
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